Quiz VI Genera! Chemistry I Lecture [ Summer 13 Dr.Hahn 25pts 6/24 M quiz #

Name &4—/ Name

(print name) 4 (sign name)  Please show all work for full credit.

1. Which of the following is the correct other half of a buffer solution in which the weak acid is HCN ?
(circle one and only one) C 4 ﬂ,‘, s

The other half of the bufferis: (@) F (b) CH; COO" @CN' (d) HCN'*

Ac(d base)
2. Forabuffer of 0.150 M of 'C%(?Oio and 0.200 M of H3gf§6', what isthe pH ? The pK, of
Hendefso ~PH = pK, + log { [base] / [acid] }

acetic acid js 4.74. asselbalch may be us
] f }C&i > 4 7?
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3. Inthe foliowing titration graph for a strong :Eiid to which is addeq a strong base, match the letter with
the appropriate parenthesis. ( '
o pts, 2pks Loy

(a) [H'}= (# moles acid - # moles base) / total volume in Liters (b) [H'] = concentration of the
strong acid (¢) [H']=1.0x 10-7 (d) [OH] = (# moles base - # moles acid)/total volume in Liters
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4. For atitration of a strong acid to which you are adding a strong base, the volume at equivalence
point is 7.5 mL. For 15 mL of an acid of concentration 0.255 and a base concentration of 0.500,
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b. Ifthe Kspof Ag,CO; is 8. 46 x 10 "2 whati 1s the solubility (S) ? Cf/g_ﬂ{)
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Quiz VI General Chemistry II Lecture T Summer 13 Dr. Hahn 25pts 6/24 M quiz #

Name Name
(print name) (sign name)  Please show all work for full credit.

1. Which of the following is the correct qther half of a buffer solution in which the weak acid is HCN ?
(circle one and only one) ( éf ﬂ 5‘)

The other half of the bufferis: (a) FF (b) CH; COO~ (¢) CN (d) HCN i

2. For a buffer of 0.150 M of CH;COOH and 0.200 M of CH3;COO", whatisthe pH? The pK; of
acetic acid is 4.74.  Henderson Hasselbalch may be useful. pH = pK, + log { [base] / [acid] }

Q)

3. In the following titration graph for a strong acid to which is added a strong base, match the letter with
the appropriate parenthesis. ( G )5

(a) [H']=(# moles acid - # moles base) / total volume in Liters (b) [H'] = concentration of the
strong acid (¢) [H']=1.0x 10-7 (d) [OH] = (# moles base - # moles acid)/total volume in Liters




4, For a titration of a strong acid to which you are adding a strong base, the volume at equivalence
point is 7.5 mL. For 15 mL of an acid of concentration 0.255 and a base concentration of 0.500,
what is the [H;0%] joncentration after the addition of 5 mL of base? You must show work for full

credit. @ ﬂ ,(,}

Extra Credit: 1 pt
For the reaction

Az, CO; > 2Ae* + €Oy

a. Ksp= (use the molecular formula and molar concentration
expression to answer this question) (’ ()

b. Ifthe Kspof AgCOs is 8.46x 102 , whatis the solubility (S) ? {1 /1 M)



